FED VOTE

Stab

The next federal election will be held in October. Using a 1-t0-10 scale, where 10 means you are completely certain you wil vote and 1 means you are completely certain you will NOT vote, how likely are you to vote in the upcoming federal election?
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Detailed Tables

Male - PostSec  Univ Grad Party Party  Party (NDP) (BQ) Party Party  other party ballot sure No Kids <$40K  $40K-<$60K $60K-<$100K  $100K+
A B c D 3 F G H ] J K L M N o P Q R s T U v w X
Base: All respondents 3108 1535 1573 790 1158 1160 144 536 1296 1128 863 860 511 174 102 63 22 174 249 845 2259 682 465 797 845
Weighted 3108 1513 1505 847 1056 1205 022 883 1041 758 862 827 482 179 1707 78 207 210 259 837 2269 863 @73 733 713
- 2201 1036 1206 510 707 1024 233 592 803 610 703 627 367 148 141 67 15 22 151 582 1658 545 344 558 567
10 Completely certain | wil vote/l already voted
72% 68% 76% 60% 67% 85% 55% 67% 7% 80% 80% 76% 76% 83% 83% 85% 75% 1% 58% 70% 73% 63% 73% 76% 79%
A C cD F FG FG QR QR QR QR QR R Q U u w
%5 109 86 8 75 52 28 ) 59 54 57 63 32 0 B 1 0 0 23 a7 47 56 29 a3 6
9 6% % 5% 8% 7% % % 5% % 7% 6% 8% % 5% 6% 1% - - 9% 6% 6% 6% 6% 6% 6%
E E Q Q Q Q Q Q
146 79 67 56 58 31 % 60 33 28 a2 55 22 4 B 7 0 1 12 5 101 51 26 36 19
8 5% 5% % 7% 6% 3% 6% 7% 3% 2% 5% 7% 5% 2% 3% 5% - 1% % 5% % 6% 5% 5% 3%
E E HI Q X
83 40 a2 75 % 2 2 35 i 21 23 % 23 0 z 0 0 1 7 9 63 % B 30 1
7 3% 3% 3% 5% 2% 1% 3% 2% 1% 3% 3% 3% 5% - 1% - - 1% 3% 2% 3% 3% 2% 4% 2%
DE E H H MQ X
50 %5 26 5 21 5 20 16 i 7 9 9 7 1 3 0 0 1 1 i 36 32 3 B 5
6 2% 2% 2% 2% 2% 1% 5% 2% 1% 1% 2% 2% 1% 0 2% - - 1% 1% 2% 2% 2% 1% 1% 1%
HI VWX
124 83 51 57 61 6 33 53 37 1 28 % 9 i1 7 3 0 i1 31 a5 89 a4 %5 Y] %5
5 4% 6% 3% 7% 6% 1% 8% 6% 4% 1% 3% 3% 1% 6% 1% 2% - 5% 12% 5% 1% 5% 5% 2% 3%
B E E il T T JKLN W W
22 15 7 12 7 3 1 i1 1 3 7 0 1 1 0 0 0 5 8 6 16 1 1 9 7
4 1% 1% 0 1% 1% 0 1% 1% 0 0 1% - 0 0 0 - - 3% 3% 1% 1% 0 1% 1% 1%
E KL JKL
21 1 0 0 5 7 i 3 5 2 T 8 3 0 T 0 5 1 T 9 3 i1 T T 8
3 1% 1% 1% 1% 0 1% 3% 0 1% 0 0 1% 1% 0 1% 0 25% 1% 0 1% 1% 1% 0 0 1%
T
19 i1 B i1 7 2 3 3 9 5 1 1 2 3 1 0 0 8 1 9 10 7 2 7 1
2 1% 1% 1% 1% 1% 0 1% 0 1% 1% 0 0 1% 2% 0 - - 2% 0 1% 0 1% 0 1% 0
E JK JKLR
155 8 7L 49 70 35 38 54 a7 6 0 0 0 0 0 0 0 155 0 8 107 67 %6 2 21
1- Completely certain | will not vote 5% 6% 4% 6% % 3% 9% 6% 5% 2% - - - - - - - 74% - 6% 5% 8% 6% 3% 3%
E £ T T T JKLMNOR WX
22 19 23 15 19 8 15 13 9 5 3 1 6 1 0 7 0 2 22 13 29 22 6 3 1
Don't Know 1% 1% 1% 2% 2% 1% % 1% 1% 1% 0 0 1% 1% - 5% - 1% 8% 2% 1% 3% 1% 0 1%
HI IKN JKLMNG WX
Sigma. 3108 1513 1595 847 1056 1205 422 883 1041 758 882 827 482 179 170 78 20 210 259 837 2269 863 473 733 713
o 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Summary
2582 1224 1358 634 840 1108 286 695 905 692 801 745 421 162 156 72 15 24 185 674 1906 651 398 637 632
38 83% 81% 85% 75% 80% 2% 68% 79% 87% 91% 91% 90% 87% 90% 92% 2% 75% 1% 72% 81% 84% 75% 84% 87% 89%
A cD F FG FGH QR QR QR QR QR QR Q U U U
2436 1145 1291 578 782 1076 261 636 872 664 759 690 399 157 151 67 15 22 174 629 1805 600 373 601 613
28 78% 76% 81% 68% 74% 89% 62% 72% 84% 88% 86% 83% 83% 88% 88% 86% 75% 1% 67% 75% 80% 70% 79% 82% 86%
A C =) F FG FGH QR QR QR QR QR QR Q U U 0V
174 95 79 60 77 37 a1 57 56 21 1 1 1 3 1 0 0 163 1 57 117 74 28 31 22
B28 6% 6% 5% % % 3% 10% 6% 5% 3% 0 0 1% 2% 0 - - 78% 0 % 5% 9% 6% 4% 3%
E E I 1 I JK JKLMNOR WX
%5 106 89 70 82 ) 52 60 61 23 3 9 7 a 2z 0 5 165 2 66 130 85 29 32 30
B3B 6% % 6% 8% 8% 4% 12% % 6% 3% [ 1% 1% 2% 1% 0 25% 78% 1% 8% 6% 10% 6% 4% 4%
E E HI T T J JKLMNOR WX
89 87 9 84 86 92 B 86 91 94 95 92 93 94 95 97 83 24 87 87 89 84 89 91 92
Mean Y TU F FG FGH TR UK TR UK TR TR 15 T T U

Proportions/Means: Columns Tested (5% risk level) - A/B - C/D/E - F/G/H/I - JIK/LIM/N/O/PIQIR - SIT - UN/W/X - Y/Z/a Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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How certain are you that this is the party that you will actually support on Election Day?
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- PostSec  Univ Grad Party Party  Party (NDP) (BQ) Party Party  other party ballot sure No Kids <$40K  $40K-<$60K $60K-<S100K  $100K+
A B c D 3 F G H ] J K L M N o P Q R s T U v w X
Base: Decided Voters Leaners 2685 1341 1344 684 987 1014 106 247 1118 1011 863 860 511 174 102 63 22 0 0 724 1959 562 408 709 767
Weighted 2639 1281 1358 721 878 1040 3217 744 889 682 862 827 482 179 1707 78 207 E e 712 1926 705 403 649 649
1548 775 773 353 503 692 176 443 539 389 573 464 239 122 92 48 10 0 0 388 1160 398 239 399 377
Absolutely certain/! already voted 59% 61% 51% 49% 51% 67% 55% 60% 61% 57% 65% 56% 50% 68% 54% 61% 50% - - 55% 60% 56% 59% 61% 58%
C =) KL KIN
601 333 358 252 251 188 86 75 247 181 189 250 160 27 a1 21 2 0 0 213 @77 189 113 175 163
Fairly certain 26% 26% 26% 35% 29% 18% 21% 24% 28% 26% 21% 30% 33% 15% 24% 2% 1% - - 30% 25% 2% 28% 2% 25%
DE E M M
158 84 7a 62 29 a7 32 55 a2 29 40 22 40 ) 1z 5 7 0 0 a1 17 59 6 30 30
Not very certain 6% % 5% 9% 6% 5% 10% % 5% 2% 5% 5% 8% 7% % 7% 32% - - 6% 6% 8% % 5% 5%
E T J X
29 7 22 8 B 2 7 i 7 7 1 9 5 1 0 0 0 0 0 5 24 7 B 3 7
Not at all certain 1% 1% 2% 1% 1% 1% 1% 2% 0 1% 2% 1% 1% 0 0 - - - - 1% 1% 1% 2% 0 1%
W
212 81 131 6 6 01 23 57 56 76 67 61 37 7 %5 ) z 0 0 5 148 52 %5 a2 73
(Dk/NS) 8% 6% 10% 6% 7% 10% % 8% 6% 11% 8% % 8% 10% 14% % 8% - - % 8% 7% 6% 6% 11%
A H JK VW
Sigma 2639 1281 1358 721 878 1040 321 744 889 682 882 827 482 179 170 78 20 0 0 712 1926 705 403 649 649
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100% 100% 100% 100% 100%
ummary
2239 1108 1131 605 754 880 262 618 787 570 762 715 399 149 133 69 12 0 0 601 1637 587 352 574 539
28 85% 86% 83% 84% 86% 85% 82% 83% 88% 84% 86% 86% 83% 83% 78% 88% 61% - - 84% 85% 83% 87% 88% 83%
Gl N X
187 92 96 70 58 59 36 69 46 36 54 51 6 3 12 5 7 0 0 6 141 66 25 33 37
828 7% 7% % 10% % 6% 1% 9% 5% 5% 6% 6% % 7% 7% 7% 32% - - 6% % 9% 6% 5% 6%
E il FT W

Proportions/Means: Columns Tested (5% risk level) - A/B - C/DIE - FIG/H/I - JIKILIMINIOIPIQIR - SIT - UIVIWIX - Y/Z/a Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their performance?
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Would not
The The New The Bloc vote/None/W  Don't
Conservative The Liberal Democratic ~Québécois ~The Green  People's Orsome  ould spoil  Know/Not

Female - PostSec  Univ Grad Party Party  Party (NDP) (BQ) Party Party  other party ballot No Kids <$40K  $40K-<$60K $60K-<S100K  $100K+
A B c D 3 F G H ] J K L M N o P Q R T U w X
Base: All respondents 3108 1535 1573 790 1158 1160 144 536 1296 1128 863 860 511 174 102 63 22 174 249 845 2259 682 465 797 845
Weighted 3108 1513 1505 847 1056 1205 22 883 1041 758 862 827 482 179 1707 78 207 210 259 837 2269 863 @73 733 713
202 140 152 73 9% 124 45 %4 84 70 1 223 19 7 5 2 0 18 7 77 215 103 44 60 56
Strongly approve % 9% 10% 9% % 10% 1% 11% 8% 9% 1% 21% 4% % 3% 2% - 9% 3% % %% 12% %% 8% 8%
JLMNOQR J J J
1096 84 612 351 351 393 122 259 388 327 50 532 211 50 73 3 T 61 75 283 812 256 185 296 270
Somewhat approve 35% 32% 38% 1% 33% 33% 29% 29% 3% 23% 10% 64% 24% 28% 3% 2% 6% 29% 29% 3a% 36% 30% 39% 20% 38%
A DE G FGH JIMNOQR | JMOQR 10 JMOQR 10 J0 U U U
649 3% 323 219 238 192 74 183 217 173 175 57 a7 65 a9 21 13 6 76 81 467 104 89 149 a1
Somewhat disapprove 21% 22% 20% 26% 23% 16% 18% 21% 21% 23% 20% % 31% 36% 29% 26% 63% 22% 29% 22% 21% 22% 19% 20% 20%
E € K JK IKQ K K K K
1024 540 484 152 358 @74 174 343 330 178 603 i1 102 55 aa 8 B 78 76 281 743 292 150 226 244
Strongly disapprove 33% 36% 30% 23% 3a% 3% 1% 39% 32% 23% 68% 1% 21% 31% 26% 61% 31% 37% 29% 3a% 33% 3a% 32% 31% 34%
B C [=2) T HI T KLMNQR K KL K KLMNQR KL K
a7 21 % 2 3 22 B ) 23 1 7 3 3 1 0 5 0 7 24 5 32 8 5 2 2
(Dk/NS) 2% 1% 2% 1% 1% 2% 2% 0 2% 1% 0 0 1% 1% - 7% - 3% 9% 2% 1% 2% 1% 0 0
G IKCMN IK JKLMN WX
Sigma 3108 1513 1595 847 1056 1205 422 883 1041 758 882 827 482 179 170 78 20 210 259 837 2269 863 473 733 713
9 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
ummary
1388 625 763 424 446 517 166 353 471 396 101 755 229 57 78 5 1 79 83 360 1028 359 228 356 326
28 45% 41% 8% 50% 2% 43% 39% 40% 45% 52% 11% 91% 8% 32% 6% 6% 6% 37% 32% 43% 45% 22% 8% 29% 46%
A DE FGH JIMNOQR | JMOR 30 JVOR 30 10 U
1673 867 806 211 596 666 248 526 546 351 778 68 249 121 93 68 19 125 152 262 1210 486 239 375 385
828 54% 57% 51% 9% 56% 55% 59% 60% 53% 6% 88% 8% 52% 67% 54% 88% 94% 59% 59% 55% 53% 56% 51% 51% 54%
5 T T T T T KLVINGR K KL K RCVINGR K K

Proportions/Means: Columns Tested (5% risk level) - A/B - C/DIE - FIG/H/I - JIKILIMINIOIPIQIR - SIT - UIVIWIX - Y/Z/a Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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Some people say that the Liberal government under Prime Minister Justin Trudeau has done a good job and deserves to be re-elected this year. Other people say that it is time for another federal party to take over and run the country. Which of these stateme

Detailed Tables

HOUSEHOLD
GENDER EDUCATION DECIDED-VOTERS LEANERS COMPOSITION HOUSEHOLD INCOME
Would not
The TheNew  The Bloc vote/None/W ~ Don't
Conservative TheLiberal Democratic ~Québécois TheGreen  People'’s ~ Orsome  ould spoil  Know/Not
Female Post Sec  Univ Grad Party Party  Party (NDP) (8Q) Party Party other party ballot sure No Kids $60K $60K-<8100K  $100K+
B H ] J K L M N P T w X
Base: All 860 174
Weighted 3108 1513 1595 847 1056 1205 122 883 1041 758 862 827 282 179 170° 78 20+ 210 259 837 2269 863 773 733 713
Trudeau government has done a good job and deserves 1136 525 611 299 385 452 126 267 394 347 22 767 135 a7 47 3 2 57 56 301 835 272 161 286 306
re-election 3% 35% 38% 35% 36% 38% 30% 30% 38% 46% 3% 93% 28% 26% 28% % 10% 27% 22% 36% 37% 31% 34% 39% 43%
G FGH JLMNOQR J0 30 J0 30 J0 U 5

1879 935 %45 522 641 716 287 599 607 384 854 42 340 128 120 7 18 135 167 512 1366 575 296 431 380
Time for another federal party to take over

60% 62% 59% 62% 61% 59% 68% 68% 58% 51% 9% 5% 71% 71% 71% 96% 88% 64% 64% 61% 60% 67% 63% 59% 53%

T Hl T KLMNQR K K K KCMNQR K K WX X
53 53 40 % 30 37 B 7 39 27 B 8 B 7 3 0 0 8 36 24 8 7 16 6 27
(Dk/Ns) 3% 3% 3% 3% 3% 3% 2% 2% 4% 4% 1% 2% 1% 2% 2% - 2% 9% 14% 3% 3% 2% 3% 2% 4%
JKLN JKLMNO
sigma 3108 1513 1595 847 1056 1205 422 883 1041 758 882 827 482 179 170 78 20 210 259 837 2269 863 473 733 713
< 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% risk level) - A/B - C/DIE - FIG/H/I - JIKILIMINIOIPIQIR - SIT - UIVIWIX - Y/Z/a Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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Which of the federal party leaders do you think would make the best Prime Minister of Canada?
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Detailed Tables

- Party Party  Party (NDP) (BQ) Party Party  other party ballot sure No Kids <$40K  $40K-<$60K $60K-<$100K  $100K+
A B c D 3 F G H ] J K L M N o P Q R s T U v w X
Base: All respondents 3108 1535 1573 790 1158 1160 144 536 1296 1128 863 860 511 174 102 63 22 174 249 845 2259 682 465 797 845
Weighted 3108 1513 1505 847 1056 1205 22 883 1041 758 862 827 482 179 1707 78 207 210 259 837 2269 863 @73 733 713
898 399 299 213 293 391 117 226 301 254 23 685 51 22 19 0 2 48 46 224 673 243 133 230 204
Justin Trudeau 29% 26% 31% 25% 28% 2% 28% 26% 29% 33% 3% 83% 10% 12% 11% - 21% 23% 18% 27% 30% 28% 28% 31% 29%
A S GH JLMNOQR J0 30 JO JLVMNG J0
817 241 376 75 274 367 124 274 242 75 679 a 5 21 10 5 2 36 5 87 630 231 108 209 101
Andrew Scheer 26% 29% 24% 21% 26% 30% 29% 31% 23% 23% 77% 1% 3% 12% 6% % % 17% 17% 22% 28% 2% 23% 28% 2%
B < HI KLMNOQR K KL K K KIN KLN S
657 298 360 260 218 75 74 173 229 180 63 83 366 21 % ) T 50 3 %5 762 178 108 137 62
Jagmeet Singh 21% 20% 23% 31% 21% 15% 17% 20% 22% 24% % 10% 76% 12% 15% % 7% 24% 17% 23% 20% 21% 23% 19% 23%
DE E JKMNOQR J JKMO K
262 14 148 71 106 S % 79 83 76 22 37 3 8 %8 3 T 28 32 79 184 70 54 50 69
Elizabeth May 8% 8% 9% 8% 10% % 6% 9% 8% 10% 2% 4% % 4% 58% 4% % 13% 12% 9% 8% 8% 11% % 10%
J JKLMOQR JKM JKM W
154 109 a5 73 61 50 22 a1 59 22 a3 1 7 Y] 7 59 z 5 0 59 % 40 30 a2 35
Maxime Bernier 5% % 3% 5% 6% % 5% 5% 7% 3% 5% 0 1% 8% 4% 75% 11% 7% 4% 7% 4% 5% 6% 6% 5%
B T KL KL KL JKLMNQR KL KL T
109 50 59 22 33 54 22 30 39 18 2 2 5 79 3 0 1 8 10 25 84 31 20 24 23
Yves-Francois Blanchet % 3% % 3% 3% % 5% 3% % 2% 0 0 1% 24% 1% - 5% 2% 1% 3% % 2% 4% 3% 3%
JKINOQR JK JKL
211 101 110 62 69 80 40 60 77 3 51 5 B 6 7 8 B % 73 9 142 71 20 a1 30
(Dk/Ns) 7% % 7% 7% 7% 7% 9% % 7% 2% 6% 2% 2% 9% 1% 10% 40% 129% 28% 8% 6% 8% 1% 6% 2%
T T KL KL KL JKL JKLMNOQ X
Sigma 3108 1513 1595 847 1056 1205 422 883 1041 758 882 827 482 179 170 78 20 210 259 837 2269 863 473 733 713
d 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Proportions/Means: Columns Tested (5% risk level) - A/B - C/D/E - F/G/H/I - JIK/LIM/N/O/PIQIR - SIT - UN/W/X - Y/Z/a Overlap formulae used. * small base; ** very small base (under 30) ineligible for sig testing
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